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senflso / MATHEMATICS

(SBD wHYD Yw&le il / Tamil & English Version)

[ Qurgs wAHLQuETSET : 100

Time Allowed : 3.00 Hours | [Maximum Marks : 100

SiNleysnrsst : (1) Simagg erss@pn sflurs o&aL uleurdl 2 araTsT EreNLISENET

Instructions :

GBIy :
Note

&Ly :

Note :

sRuTTEgE Qardrera . SFatngele GonWlnllea ons
samsraniluurerfiib o engwirs QgflelésayLb.

food  sidwg smUY ool vl @Co T(WHSIUSH G LD
Sl &G HeusHELd Lwetu®ss CouarBid. UL RigEr UMTeUSD (S
GQuendléd LweTLHESe L.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Qeuallamsgmer muenE, LiGHsamer Qs reim_g.

This question paper contains four parts.

Choose the most appropriate answer from the given four
the option code and the corresponding answer.

UGS - I /PART -1

DANEUES! 65 arrimds (65 551h eflenL_weaf&ga,ib. 14x1=14

QarRssliul L preng ofeLseale Wsajb ThymLw efenl ulenar
Capos058 P GLer eflenulanamyin Ceiiggl erpsayib.

Answer all the questions.

alternatives and write
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A={1, 2, 3, 4, 5) -\Hg B erenp sandsAN@ 1024 o pajsdr odrengl ereafild B -&
={l, <, 9 ™ oS ©
o grar e_piusafien eramanams :
(1) 3 (<2b) 2 (@) 4 (/) 8 S
If there arc 1024 rclations from a set A={1, 2, 3, 4, 5} to set B, then the number o

clements in B s @

(a) 3 (b) 2 (c) 4 (d) 8

—{x, 2)/x g 13 - TS GEOPEUTET LIST GTamiaer eTenD o peilen alFFELOTENS) !

(=) {2,3,5, 7 (=) 2,3, 5,7, 11}

(@) 4,9, 25,49, 121} () {1, 4,9, 25,49, 121}

The range of the relation R={(x, x°)/x is a Prime number less than 13} is :
a 2,357 (b) {,3,5,7, 11}

(c) 4,09,25,49, 121 d) {1, 4,9,25,49, 121}

1729 -g Lisms smefiiu@sgIh Curg), Sibg LS aramasaiian SiHEGEsalen smbSe :
(=) 1 (<=2p)2 (@) 3 (/) 4

The sum of the exponents of the Prime factors in the Prime factorization of 1729
iS :
(a) 1 (b) 2 (c) 3 (@ 4

ey wrhlsaiiey DS eperrm Grflwe sarur@aaiier QsTELADE STeyser
Eléena6wafle, 250gTEGLIIQ o-aTeT SETMRIGET

(<=1) @Gr e udrefludle QeuL_([Hdl et
(=) @Cr em Camlige Qeul_(H&lesmment
(@) gandldn Bg @ AUTGHSID

(/) eeamep@uireny Gleul L sl

A system of three linear equations in the three variables is inconsistcpt if their

planes :
(a) Intersect only at a point
(b) Intersect in a line

(c) Coincide with each other

(d) Do not intersect

L
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X+y-3z=-6, ~7Ty+72=7, 3z2=9 eranp Qg9 er 5"‘"6‘4'3

(@) x=1, y=2, z=3 (@) x=~1, y=2, z=3
(@) x=-1, y=-2, z=3 (FF) x=1, y=-2, z=3
The solution of the systeni XtYy—-3z=-6, -Ty+7z=7, 3z=9 is :
(a) x=1, y=2, z=3 (b)  x=-1, y=2, z=3
(c) x=-1, y=-2, z=3 d x=1,y=-2, z=3

EDESEHTL_cuDMIET 6TE y2+y—2 -5@&& s Gdene ?

y +71 : ' 1 2
Gl P - =) [y ) 5}
W S PR 1)?
(@) [y B —}‘ +2 (/) _(y + 5) —2
9 A%
Y“+— is not equal to :
Yy
y*+1 .+ 1 T
(a) V2 (b) [y ﬂ
e 2
—_ 2 - =2
o [-ife ONT b

AABC -ufé0 DE||BC AB= 3.6 @&..5, AC = 2.4 Q&..5 wHmL AD=2.1 Q5.5 erafed |
AE Qe FBermid- ‘

(@) 1.4 Qe.8 (=) 1.8 Gs.if (@) 12Gef (W) 1.05 Q5.

If in AABC, DEHBC AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of
AE is : .
(a) 1.4 cm (b) 1.8 cm (c) 1.2cm (d) 1.05cm

[ Smuys./ Turn over
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aLadar Qaseflviyplr yerelullemmpg el sHmE 6T &G ement QgrHGaTHsT

Quenriuemnd ?

(<=4) eI (<) Qoan(

(@) Wyeupp o rafléms (rr)  seflunb '
How many tangents can be drawn to the circle from an exterior point ?
(a) one ' (b) two

{c) infinite (d) zero

3x—y=4 wppb x+y=8 YA CriGarHadr spHa@b Ljemert]

() (5, 3) (<24) (2, 4) (@) 3, 5) (/F) (4, 4)
The point of intersection of 3x—y=4 and x+y=8 is :
(a) (5, 3) b 2.4 (¢) (3,9 (d) 4,4

Gem_psse® PQ -uilen smiay —Ig crafléd PQ -6 Qeti@ssran @i Cleuliquilest

7
FTUIGY !

(=) V3 () V3 ®) & () O

If slope of the line PQ is :/LS_ then, slope-of the perpg:ndicular bisector of PQ is :
@ 3 () -3 ©) 7 @ o

gt gflder GuGe h 5 2 wrsdled o Grar em yaraflulelmbg CuossdnE o erer
ghn&Caremd B. Cws Wbusdear Qn&s&Caramd 45° arafied erfluler @ mHE
CuwasdnE o-drer o wirwrerg (B ) : '

(-:9[) h:(ll +t::1ﬁ) . ( ) h(l B tanB)
— tanf} 1 + tanp _
(&) htan(45°~g) () @eupmieT ergib @Qerenay

The angle of elevation of a cloud from a point h metre above a lake is B. The angle
of depression of its reflection in the lake is 45°. The height of location of the
cloud from the lake (in meters) is : '

() h(1 + tanp) (b) h(1 - tanp)
1 — tanf3 1 + tanp
(c) htan(45°-p) (d) None of these
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12. @i o mevenuien 2 WFs®s OTDDTOD DiGen o rHmsLl urdwrss Ceream@ ug]u-_n
o _(menar o HaurssLLGADS. LW whoid eppeg a_@emmgerﬂsh &GO ST G ST 68T

el &BId
(1) 1:2 (2p)1:4 (@) 1:6 (F) 1:8

If the radius of the base of a right circular cylinder is halved keeping the same
height then, the ratio of the volume of the cylinder thus obtained to the volume of

original cylinder is :

(a) 1:2 b) 1:4 ) 1:6 (d) 1:8

13. @i <ersGsragdler QurEsLLTiLY igear g rsHaew aiéssler

DL BIST(GLD.

(=) ™ (<) 4w (@) 3w () 2w

The total surface area of hemi-sphere is how much times the square of its
radius : )

(a) = (b) 4 (c) 3w (@) 27

14, @M UsssES O ([BhHg FoeUMILIL (PeDUID (b LiG&LD CsiposHa&sILBEDNS. DS
L&s erarTanflen ey @@L wHluurerg 7 -@ L& Gopeurs QEHLUSDETET

Flspgseurang) :

| 7
(@) 15 (@)= @ () <

A page is selected at random from a book. The probability that the digit at units
place of the page number chosen is less than 7 is :

7
(d) )

O | w

(@ 15 (b) 5 (c)

[Q@L'ana / Turn over
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L@ - I / PART - II

: iy ssab. elarm cranm 28 -&&
senauCuend 10 AaTés@hs@ aflenLwiehésalo =20

sL_Lmuons e waf&se.

Answer any 10 questions. Question No. 28 is compulsory.
AXB={3, 2), (3, 4), (5, 2), (5, 4)} erafled A pmid B -g3 STERTS.
IfAXle(B» 2): (3’ 4)’ (Sv 2)3 (5: 4)} then find A and B.

A={5, 6}, B={4, 5, 6}, C={5, 6, 7} eT@fller AxA=(BXB)N(CxC) erans STL(H&.
If A={5, 6}, B=@4, 5, 6}, C={5, 6, 7}. Show that AxA=(BXB)n(CxC).

s 10 Qua eramsermed Hulemdl gL snigw SBlw ereur ergl ?

Find the least number that is divisible by the first ten natural numbers.

~11, —15, =19, .......... eTemp Sl BF Qs euflensulien 19 -6ugl 2 MILIHLIS STERTS.

Find the 19th term of an A.P. —11, —15, —19, ..........

400 x*y'2516

-G QUTGSELPEILD SIS .
100 x8y’424

400 Jc‘*ymz16

Find the square root of
1 100 xsy“z4

ABCD eranm @@ sfeussde AB|DC wpmibd P, Q eretuer wparnGu LSSk ET
AD wpmb BC -uler Bg ewpgierer Yerallger @b, Gugb PQ||DC,
PD=18 Q&.15, BQ=35 Ql&.15 wpmid QC=15 Q.15 erafler AD - sreirs.

ABCD is a trapezium in which AB||DC and P, Q are points on AD and BC respectively,
such that PQ||DC. If PD= 18 cm, BQ=35 cm and QC=15 cm find AD.

A(-1, 2), BK, -2) wpmid C(7, 4) Fweupen aflmsurer weaanidralsermss
Qaram. waCsramgden Lipriy 22 58T Siv@Gsar erafle) K -ufen whiiy srams.

If area of triangle formed by the vertices A(—1, 2), B(K, —2) and C(7, 4) is
22 sq.units, find the value of K.
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22. (3, -2), (12, 4) aéip yeraflsar anfls Qacgin CpirsGar® P wppib (6, —2) HHID
(12, 2) ererp ydareflser euflé edgib CrisGar® q p@n. p -BeH d -5
@aamun@Lor ?

The line p passes through the points (3, —2), (12, 4) and the line q passes through
the points (6, —2) and (12, 2). Is p parallel to ¢ ?

23. (5, J5) wpmib Huyeratismer @amars@n CrisCam e sniemeas STs.

Find the slope of a line joining the points (5, /5) with the origin.

24. 10V3 8 cwpgpdrer Gemyrédlen <iiquielmig 30 8 Qsraaein sarude o drer
e yaalld@mpg Camursdler o &8ulen ghpsCarasmss srams.
Find the angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of tower of height 10/3 m.

25. 704 &.0#.18 Qursslt Upliugliy Qsrar. @@ sbiQer <ppb 7 Q.15 cafle), siger
FTWITLD SeRTs. _
If the total surface area of a cone of radius 7 cm is 704 cm?, then, find its slant
height.

26. @i 2 meneTuden < WHMID 2 wkisefler elflsn 5 : 7 @, Sigen euameTLTLL
5500 &.05.18 erafllé 2 (menarudlem < Fb WOHMD 2 WIFLD SrETs.
The radius and height of a cylinder are in the ratio 5 : 7 and its curved surface
area is 5500 sq.cm. Find its radius and height.

27. @ eouwde 5 Aeuliy HML UBSIEEHD, 6 Ceudtenar FiPLI LBSISEHD, 7 LFms BlmL
LB&S@EED, 8 S@HUIL HDU UBSISERD 2 6Tearar. Fnamitiy pepudd euuiambs)
e LpE TBEELLOADS. Sibs LBl (i) CeudTerer (i) sHUY SADwg Heauly

-85 QHES HEDSEMaS HTRTS.
A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is
drawn at random from the bag. Find the probability that the ball drawn is :

(i) White (ii) Black or Red

28. x -an LG ETETE. x2—4x—12.
Find the value of x, in 2 —-4x—12.

[ Sliys / Turn over
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LGS - I / PART - III
Sy :
SU_Lmuwnss adean L weafldseid.
Note : Answer any 10 questions. Question No. 42 is compulsory.

29. QsrP&siul L 2 peyser ¢eubleuramanmu|ib.,

30.

31.

32.

(i) <=bY&EGD LD
(ii) GuenFuLL_LD

(i) Ll we apepuiler GH&ES

{(x, Y)/y=x+3, x, y YFweney Quied erammaer <10}

Represent the given relation by :
(i) an arrow diagram

(ii) a graph and

(iii) a set in roster form, wherever possible

{(x, y/y=x+3, x, y are natural number <10}

serauBuend 10 elaimésEns @ eleweldsan. eflanm Grar 42 -&5®

10x5=50

1230 wpmd 1926 H&w aamsmear a@Gs@ELCurg 58 12 -m§ srésmigw

WsLQuilw ecrameanattd &reTs.

Find the largest number which divides 1230 and 1926 1eav1ng remainder 12 in

each case.

@0 &5 dgriiauflmsla gaugraug o mlider @erug Lk,
udleanbgreug e pufer Llmanbg WLREGL b aafle QMuUESS BrasTag)

2 mILnYler <,mi oL BISTeng| LFSLD erer Hlmnieys.

If nine times ninth term is equal to fifteen times fifteenth term show that six

times twenty fourth term is zero.

&®é@$:b2+3b—28___ b? - 49
b2 +4b+4 b2 -5b-—14
b% + 3b — 28 b2 - 49
Simplify = o .

b2 +4b+4 b2 —5b-— 14
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A 1043 o o : d .. . .
Xt —12x7 +42x° = 36x+9 erarudlen QUITESHALPEILD FHITEHTS.

Find the square root of x* — 12x3 +42x2 —36x+9.

GSET WoPuad X2 +2x-2=0 -p& Sidsayb.
Solve x?+2x—2=0 by Formula method.

Cament @@&m@em'_u}; Coppseans erpd Hlemidssaib.

State and prove Angle Bisector Tl'ieorem.

@@ wailgan 18 15 wsGs Qsarm Garart 24 8 oG8 Qedlprer. CgrL&s
Bleneouledlmbg el QBEE0D QgTanmeneud GIrams.

A man goes 18 m due east and then 24 m due north. Find the distance of his
current position from the starting point ?

(8, 6), (5, 11), (=5, 12) wpmid (—4, 3) <pHw yeteflsmer aanserras QemerL
BID&TSS 6 LIFLIL| STesTs.

Find the area of the quadrilateral formed by the points (8, 6), (5, 11), (=5, 12) and
(—4, 3). |

e SeumeL L efligh@ Geuallude) apOsran® o geraddlen o &4 LHMILD
<llg. s Hweuparn pepGu 60° HMID 45° S A gHnsECaranhsaties sramdlmmi.
ieuflar 2wrb 180 Qg.18 Cogib il ydlmbg 5 5 Ggreaaeie Sjeum o erarmi
erafléd genanellen o IFSamEs GIanTs. (V3=1.732)

To a man standing outside his house, the angles of elevation of the top and bottom of
a window are 60° and 45° respectively. If the height of the man is
180 cm and if he is 5 m away from the wall. What is the height of the window ?

(V3=1.732).

@ 2 (Hener eulgealLl SoumuQer o wrd 20 Q& wHmb Sgliyp < To 14 Gs.8
erafléy e cueneUrLiL LHML QArEsL LOUUFUUSE STaTs.

A cylindrical drum has a height of 20 cm and base radius of 14 cm. Find its

curved surface area and the total surface area.

[ HlpLuLs / Turn over
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3 : : e . i plYleor Hae
484 QoS sppara)erer m wrégmibidar 2wy 105 Qe.8 erafld, bl

D|ATENCUSE & TGS,

A : . : i its volume
If the circumference of conical wooden piece is 484 cm then, find 1t

when its height is 105 cm.

Qren@® Srren useLEET (Wennwrs Gy CrrssHled g@LLL_L'Ju(Ba%]GiﬂDGUT-'
() @ran® usoLsaiaid @Gy wps wHLY SoLés

(i) qps wdlysefler QU@mESHLET LST cramaTas L &S

(iii) @& wHlysailer saBHge urasrr TRTERTTES &)oL &S

(iv). s mgluqé;aﬂcin FHFD 1-25 Qmés wdw Hlapsslasafen Hl&Lhs56e|5meTs

FHTEOTS.
Two unbiased dice are rolled once. Find the probability of getting :
(1) l A double“c (equal numbers on b-oth dice). l
(ii) The product as a Prime number.
(iii) The sum as a Prime number.

(iv) The sum as 1.

@_@ Lee xy Seddled (6, 4) erenm Lerafludled o arargl. (=5, —11) eremm Leraflufed
@@ UredLLly eeassuulBerarg. yeaear Blas gméwu gird vwelsgn urd
<BHs Ambying eraflwd, Lra@oL U®@m§m@§> Czamauwrer LTengud e

FLOGTUTL D& ST,

A Cat is located at the point (6, 4) in xy plane. A bottle of milk is kept at
(=5, —11). The Cat wishes to consume the milk travelling through shortest
possible distance. Find the equation of the path it needs to take its milk.
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u@d - IV / PART - IV
GO @ VTS| Qfﬂmrrér,g;@gg@m efNenL_weldasald. 2x8=16

Note : Answer all the questions.
43. (<) P&Carantdo PQR -ay @& Lssmsailer eldsib % erenTmeUrml ¢2(H allgCeurss
WwEGsTeRTD auenrs. (Siemey smryewi 7 1)
3

3 SI060F)

(=) 6 .8 @ﬂ.‘.—L—(EDGiTGTT UL b euenyhgl eul_LgElen ewwgHelmbg 8 Q&8
Qg?rrsmu@ﬂa) P erenim Lereflepwis @dléaen. otiyarafluiadlmbgl PA pmb PB
e @ CsTHCHETNSET cuerhg Deuplen HeTmiseaar ECCES

Construct a triangle similar to a triangle PQR with its sides equal to % of

the corresponding sides of the triangle PQR. (Scale factor %> 1)

OR

(b) Draw a circle of diameter 6 cm. From a point P, which is 8 cm away from its
centre, draw the two tangents PA and PB to the circle and measure their

lengths.

(1) x2—9x+20=0 eramp FDETLTL g 6T GUeTLUL LD euanyhgl Sieflen HenenLoam s

oM.

3| 6V60G)
(c%)y=x2—4x+3—u5]6§fr QUETLILLD GUMTHE DASE EPeLD x2-6x+9=0 eram
FloGTUTL LG STEEa|D.
aw the graph of +2-9x+20=0 and state the nature of their solution.
OR

(a) Dr

(b) Draw the graph of y=x2—4x+3 and use it to solve x2—6x+9=0.

-00o0-

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

